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CxeMa snexTpHYeCKas NMPHHUHNHAAbHAS

3. KT — xoutposabhas Touka,

MC31
5T [a- - 4 gy 206] +58B
e 1l S ¢ — | B 77 (730 (P
Bxod  [714A" 3 9 1 5Z 3152 5 }_TFE Kopnyc
Rl |Q g ?‘2 % 3,1 A J
[& s i‘% 3
MC3 . X
g M1 2ID(:T %5 +— é Bac ﬁ@
! R6E a 1)
Rl 18 |ppMC14 4
MC1.2 7
gt 138 1 ~u
s MC41
3 R3 2 o
——-€>C 5 1 §% -
ol [ghé “ igg .
2R L= 3 #0116 LanHbie A"
2 a Gy oTi] 9126 /lannbie , 2"
3 8 KTH 65T ' 8136 |lanHbIe 4
R4 1 | 734 6[laHHbie 8|
1
. v, Z
4
U\ U
12 MC13
1 4 |
Wrn.cB30calg 3A 2 i 30
| 124%2| <
8 5 g
% 23
Kt4 G 2 X7
15 5 5 8 & R11
a‘c ! = s ¢ '
'-TIH o 1,1 1y t{ \}.‘ 1 ) :._.1" R
th 2 VN i & J ¢ i 1 2
THS 414 AW VY | 4
gga 2 1
ke P
AP
N, 128 ?3 :‘1“ .
C ] 1 L 13 15 ;% <
TS| 36
31p8l— 444 1514 x6| |3
o0 © 8 2 16 4 4 X7 '
2 7 {8 68 R12
o' ph S 11 %
«r3 |,._MC8 Z g 4
= C 1 6 17 | 7 vV
401
Hefizi 2|11 18 ; 516A] BX0G 41
}-'_"L-L;na,‘l‘ 4|14 19 3 A7A| Bx00 , 2*
¢ gﬁau 82 20 A 3187 axgg.,w.
] 7 219A| Bxod , 8"
‘$ 2 | ?, 5756 0npOC A7
" MC f 7 16b6{0npoc .2
K14 g5 94 5 24 8 176 tTnpoc g:ﬁ
D1 3186{Unpoc ,
1 E g 2 11 22? .
3 g 4|14 23b
,20 8|2 24
R |
Kt5 15.:‘1(:101 5 25 l. B‘uao%‘gluﬁggcxemu MC5; BuBoan 14 MukpC
cxem MCl... :
g:z‘ 2 2 1 26 BuiBOAN 16 Muxkpocxem MC6.MCl4 noaxmount
D4 o K uemnmu a. :
185 414 27 . Busoawt 7 mukpocxem MCI1.MC4; Busoam
73‘?0 8 2 28 mmpocxlzu MCG...MCM'M , -
. BbiB '
Q ,__13_ 1 |p ?'_7_491 W Tepence Kopr?;'lc. mukpocxems MCS5 noaxaiounrs ¥ uen



